Lecture 4

Exercise 1: Based on the diagram above, are the ADSL signals

higher or lower in frequency than the conventional telephone
signals?
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Exercise 2: (alculate the maximum upstream and down-

tream transmit powers (consider only the frequencies where the
power is highest)?
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Figure A.1/G.992.1 - ATU-C transmitter PSD mask
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Exercise 3: What is the equation for subcarrier number as a La W g‘\ 3(0(\-Q = ,Lé'g
function of frequency? What ranges of subcarrier numbers are
used for the upstream and downstream?
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Exercise 4: |s this an additive or convolutional (multiplicative)
—interteaver*Does it need framing synchronization?
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Exercise 5: How many errors per codeword can be corrected?
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